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2017-07-13 Zb = 1.00 kilometer + 0.39 kilometer Zt = 1.23 kilometer * 0.26 kilometer
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Figure S1 Same as Figure 1 of the paper, except for RF 2017-07-13
25 2017-07-20 Zb = 0.35 kilometer + 0.16 kilometer Zt = 0.96 kilometer + 0.32 kilometer 10
2017-07-20 ’ CEIL cloud base
radar cloud base
radar 1st layer cloud top o
= -10
é 15
% 2§
E10
< -30
05 -40
T
=50
8 9 0 11 12 13
UTC [hour]
Figure S2 Same as Figure 1 of the paper, except for RF 2017-07-20
2018-01-19 Zb = 0.71 kilometer + 0.07 kilometer Zt = 1.05 kilometer + 0.83 kilometer
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Figure S 3 Same as Figure 1 of the paper, except for RF 2018-01-19



2018-01-26

2018-01-26 Zb = 1.16 kilometer + 0.02 kilometer Zt = 1.49 kilometer + 0.06 kilometer
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Figure §4 Same as Figure 1 of the paper, except for RF 2018-01-26

2018-02-07 Zb = 1.30 kilometer + 0.02 kilometer Zt = 1,55 kilometer + 0.06 kilometer
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Figure S5 Same as Figure 1 of the paper, except for RF 2018-02-07

2018-02-11 Zb = 0.85 kilometer + 0.21 kilometer Zt = 1.58 kilometer + 0.34 kilometer
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Figure S6 Same as Figure 1 of the paper, except for RF 2018-02-11



